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There are here three testimonies — DTV WHW N2 T

OVERVIEW

The Xn»721 states that if three groups of witnesses testified individually regarding
three separate N33, they are regarded as three (separate) testimonies (and as one
testimony regarding nnt1). The &3 explains the meaning of 7»1% nAR M7y, and
mooIn explains’ the relevance of N7y '3 18 1.

mooIn explains that the three 2>y °n3 are considered N7y WHY -
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Regarding if they are three brothers (in each set one of the 0>7v was a brother to
one 7V in the other two sets), and one additional 7¥ from the market joins with
each set, it is a valid m7y.

SUMMARY
The testimony of the three 2>7v °n> is valid if the 0’7 of one N2 are related to the
07y of another n>.

THINKING IT OVER
Why did m»o1n not learn like >"w?"

'See 7 71" >"w who explains it to mean that if one of the sets of M7y became nullified, the other two remain (for
they are separate testimonies [and the rule of 7915 7702 nX¥pn 7702w MY does not apply]), and he pays a 1"n for the
damage the remaining two sets testified to. See “Thinking it over’.

2 3wnw 727 and "% (who are brothers) were 07y for three different N1 (each one for one m*a1) and 717 (who is not
related to 171 Pwnw 123%7) was the second 7¥ in each of the nm*a1 (or there were three people; a different one joining
each of the three brothers).

3 We do not say that since the combined testimony of the brothers cause this ox to become a 7¥1», therefore, since
they are relatives, their testimony should be disqualified, but rather since these are n1»7v wHw, for they each saw a
different 733, therefore we accept them all and the ox becomes a 7va.

* See footnote # 1. See mwn noma.
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